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BI/IAI/IMOCTb B NpAMOM HanpasaeHun
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Ha pasaenntensHomn
[lopo>kHble

orpaxaeHus cnpaea
Ha o6ounHe

TpoTyapbl cnpasa




Tpotyapbl cneBa

[lopoxHble

Ha o6ounHe

orpaxaeHua cneBsa

Ha pasaenvtensHomn

,ﬂ,OpO)KHaﬂ pa3mMeTka cneBa

-~ 2 5 | 3
MEHTbI B NMaaH R=90, a=-16°" — R=50, a=-50°
dneme naHe é% \ T y
MNooaGALHbIA N OCI)I/I.Hb a=0 o a=8 3 a=22 2 a=44, a=28 2 a=18 @ a=1 2 a=8 9 a=2 3 a=7 3
PoA P L=100 ” L=37 " L=30 | L=20 L=40 ~ L=29 ~ L=51 B L=18 L=35 B L=14

BI/IAI/IMOCTb B OﬁpaTHOM HanpaBaeHun

NPOEKT OpraHM3aunm JOPOXHOIO ABUXKEHWNSA
7. yn. WkonbHasg, a.bywyeso

1000

1

Y3en Ha 0,447

BI/IAI/IMOCTb B NpAMOM HanpasaeHun

,ﬂ,OpO)KHaﬂ pa3mMeTKka crnpasa

[lopo>kHble

Ha pasaenntensHomn

orpaxaeHusa crnpasa

Ha o6ounHe

TpoTyapbl cnpasa




